
1.05

0.20

0.6







Constant



800+

800+

800+

1.04

1.04

1.04





( ) 20000 800s t t= + ( )( ) 20000 1.04
t

c t =



( )(6) 20000 800 6s = +

(6) 24,800s =

( )
6

(6) 20000 1.04c =

(6) 25,306c =

( )(5) 20000 800 5s = +

(5) 23,200s =

( )
5

(5) 20000 1.04c =

(5) 24,333c =



800

1
+ 800+

800

1
+ 800+

3200

4
+ 800+

3200

4
+ 800+

800

1
+ 800+

832

1
+ 832+

25,306 21,632

6 2

−
+

−
918.5+

29604 25,306

10 6

−
+

−
1074.5+





Use DESMOS and 
graph the functions!




